
 

A) wind
B) nuclear
C) diesel
D) solar

The boat shown in the picture below depends upon what energy source?1.

A) hurricanes and other big weather systems
B) especially high tides because of the position of the moon
C) large pieces of ice breaking off of glaciers and falling into the ocean
D) earthquakes or volcanic explosions

A tsunami, which is sometimes called a tidal wave, is created because a huge amount 
of energy is released in the ocean. The release of this energy is usually related to 
what?

2.
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A) peas
B) corn
C) peaches
D) coffee

What type of crop is being grown in the picture below?3.

A) 2nd
B) 4th
C) 5th
D) 7th

Antarctica ranks as the ______ largest continent in terms of area.4.

A) Toronto, Calgary, Vancouver
B) Montreal, Calgary, Ottawa
C) Toronto, Montreal, Vancouver
D) Toronto, Montreal, Victoria

What are Canada's 3 largest cities in regards to population?5.

A) Didgeridoo
B) Bullroarer
C) Gum-leaf
D) Lute

What is the name of the long-tubed instrument made from wood and played by the 
Aboriginal people of Australia?

6.
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A) Yellowknife
B) Whitehorse
C) Iqaluit
D) Dawson City

Which of the following cities has the largest population at just over 25,000 as of 2016?7.

A) Edmonton
B) Regina
C) Winnipeg
D) Saskatoon

The Red River Floodway was created to protect which city?8.

A) Vancouver
B) Winnipeg
C) Ottawa
D) Halifax

Which Canadian city is more likely to experience a major earthquake?9.

A) Seoul
B) Incheon
C) Busan
D) PyeongChang

Which South Korean city is host to the 2018 Winter Olympics?10.
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